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QUESTION 1

Which two statements are correct on the use of business objects in a BPM project? (Choose two.)
A. A business object is defined by a complex data time.

B. Business objects are often defined in WSDL documents.

C. A business object can inherit data and behavior from a parent business object.

D. You can create a business object at either the project level or the process level.

Correct Answer: BC

QUESTION 2

Which two statements are correct about business indicators? (Choose two.)

A. They can be captured at measurement marks.

B. Dimensions allow the user to capture numerical values.

C. All business indicators are captured at sampling points and a subset is captured at measurement marks.
D. Counters are used for interval start and interval stop measurements.

Correct Answer: AC

Explanation: A Measure Business Indicator is used to capture something that can be measured.

The BPMN Service Engine automatically stores the data in the dimension business indicators inthe predefined and
custom sampling points defined for your process.

QUESTION 3

Which two statements are true about business indicators used for process analytics? (Choose two.)
A. A counter must be associated with a counter mark in order for the counter to be incremented.

B. Measures specify how process analytics data can be filtered or grouped.

C. If you do not define any business indicators, no data is captured at a sampling point.

D. Measurement marks are defined on sequence flows and are visible on the model.

E. The dimensions you have defined are visible on the process model.

Correct Answer: AD
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QUESTION 4

The process payload, including customer name and order ID, is stored based on a single XSD- based data object and
the human tasks in the process use this XSD definition. End users need to see the customer name and the order ID as
columns in their default inbox task list.

Which three approaches best accomplish this requirement? (Choose three.)

A. Either public or protected flex fields can be used to displays the customer name and order ID without having to add
additional process payload data objects.

B. Public flex fields can be used if two new simple data elements, representing the customer name and order ID, are
added to the human task\\'s list of data objects.

C. Public flex fields can be used if two new simple process payload data objects, representing the customer name and
order ID, are first added.

D. Public flex fields can be used only if they have first been created in the workspace and the two have been added as
mapped attributes in the human tasks.

E. No changes to the human task\\'s incoming data or data associations are necessary if protected flex fields are used.

Correct Answer:. ABE

QUESTION 5

Which two statements are accurate in describing features of Business Process Workspace? (Choose two.)
A. To see tasks containing a particular word in the task title, you need to create a custom view.

B. The definition and data for a new view can be shared with a colleague.

C. A custom view needs to be created to enable the delegation of a task to another user.

D. In a task view, the task list can be sorted based upon any visible column heading.

Correct Answer: BC
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